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PREFACE

This library reference contains documentation for the calculation of single subclass stops.  It provides the same function as USPS-LR-I-151 filed in Docket No. R2000-1.  This is a Category 2 library reference relating to USPS-T-21. 

 CALCULATION OF SINGLE SUBCLASS STOP RATIOS

This library reference contains the documentation for the calculation of single subclass stops used in letter route access and coverage load incremental cost calculations.  The documentation consists of four parts:

1.  Program Documentation
A description of the input data, output data, tasks  performed, and variables for the computer programs. This includes both the formal documentation and an informal document, which contains additional descriptive detail on the functioning of the programs.

2.  Program Listing

Copies of the following SAS programs with internal documentation:

SSS

SSSTSC

3.  Output Listing


A listing of the output created by the SAS program 

4.  Floppy Disk Containing 
SSS

SSS00.dat

SSSTSC

SSSTSC00.dat

III.
Requirements of Computer Analysis Relied Upon

A.
A general description of the program that includes:


1.
Objectives of the program:
Single subclass stop ratios are used in the calculation of letter route access incremental cost.  Total accrued access cost multiplied by the single subclass stop ratio gives the incremental cost for that subclass.  The accrued access cost multiplied by the subclass stop ratio for a group of subclasses gives the incremental cost for that group of subclasses.   Single subclass stop ratios are also used in the calculation of letter route load incremental cost.

The objective of the SAS programs SSS and SSSTSC is to calculate single subclass stops for each of three stop types - single delivery residential (SDR) stops, multiple delivery residential (MDR) stops, and business or mixed (BAM) stops.  SSS generates single subclass stops for 16 mail subclasses and eight groups of subclasses. SSSTSC generates single subclass stops for 10 subclass combinations.

2.  Processing tasks performed:

SAS program SSS reads in subclass piece-count data from the city carrier cost system SAS datasets ALDRAN.CITY.PQTOTAL.PQ1FY00, ALDRAN.CITY.PQTOTAL.PQ2FY00, ALDRAN.CITY.PQTOTAL.PQ3FY00, and ALDRAN.CITY.PQTOTAL.PQ4FY00, documented in USPS-LR-J-12.  Each record on the input data sets represents the mail volume by rate category at a sampled stop.  The data set is sorted by stop type.  The number of single subclass stops for each of the three stop types are calculated using four steps.  

1. An array is set up to hold the volume for each subclass (or subclass group) at each stop.  If there is any mail delivered at a particular stop for this subclass, then the appropriate element of the array is set equal to the amount of volume for that subclass group.

2. The variable TVOL is set equal to the sum of the total volume at the stop, for all subclasses.  If TVOL is greater than 0, and is exactly equal to the amount of volume for one of the subclasses, then the stop is a single subclass stop.  If this is the case, the appropriate array element corresponding to the subclass is set equal to 1, otherwise it is set equal to 0.  

3. The variable TOTSTOPS is set equal to 1 in order to count the total amount of actual stops in the dataset.

4. The total number of single subclass stops is calculated by summing up the array elements for all stops in the dataset.  TOTSTOPS is also summed.  The single subclass ratio can then be calculated in a spreadsheet by dividing total single stops for each subclass or group of subclasses by the total number of actual stops. 

SAS program SSSTSC follows the same steps, except that single subclass stops are calculated for selected two subclass combinations.



3.
A listing of the input and output data.

Program 1:
SSS

Inputs:

ALDRAN.CITY.PQTOTAL.PQ1FY00



ALDRAN.CITY.PQTOTAL.PQ2FY00



ALDRAN.CITY.PQTOTAL.PQ3FY00



ALDRAN.CITY.PQTOTAL.PQ4FY00

The variables in these SAS datasets are documented in USPS-LR-J-12.

The output dataset generated by this program is:

Outputs:
SSS00.dat

Used by:
Incremental cost model workbook IC_Forms.xls, documented in USPS-T-21 workpapers, with electronic version provided in USPS-LR-J-72.

Each output dataset has three records.  Each record contains the stop type and the number of single subclass stops for each element in the array of subclasses or subclass groups.

The format for SSS00.dat begins with:

STOP TYPE

Number of single subclass stops for the following subclasses and subclass groups:

FIRST CLASS SINGLE PIECE 
FIRST CLASS PRESORT                              
TOTAL FIRST-CLASS LETTERS                       
CARDS NON-PRESORT                                
CARDS PRESORT                                    
TOTAL CARDS                                   
TOTAL FIRST-CLASS                             
PRIORITY                                         
EXPRESS                                          
MAILGRAMS                                         
PERIODICALS                                      
STANDARD MAIL ECR                         
STANDARD MAIL REGULAR                             
TOTAL STANDARD MAIL                      
PARCEL POST                            
BOUND PRINTED MATTER                       
MEDIA MAIL   

TOTAL PACKAGE SERVICES                      
USPS                                         
FREE                                         
INTERNATIONAL                           
CORRESPONDANCE  
(Total First-Class Mail plus Mailgrams)

ADVERTISING  

(Total Standard Mail plus Bound Printed Matter)               

EXPEDITED


(Priority, Express, Parcel Post, Media Mail)               
Program 2:
SSSTSC

Inputs:

ALDRAN.CITY.PQTOTAL.PQ1FY00



ALDRAN.CITY.PQTOTAL.PQ2FY00



ALDRAN.CITY.PQTOTAL.PQ3FY00



ALDRAN.CITY.PQTOTAL.PQ4FY00

The variables in these SAS datasets are documented in USPS-LR-J-12.

The output dataset generated by this program is:

Outputs:
SSSTSC00.dat

The output dataset has three records.  Each record contains the stop type, and then the number of single subclass stops for each element in the array of subclass pairs.

Used by:
Incremental cost model workbook IC_Forms.xls, documented in USPS-T-21 Workpapers, with electronic version filed in USPS-LR-J-72.

SSSTSC00.dat contains the following variables:

STOP TYPE

Number of  single subclass stops for the following two subclass pairs:

PRIORITY & EXPRESS                           

PRIORITY & PARCEL POST           

PRIORITY & BOUND PRINTED MATTER

PRIORITY & MEDIA MAIL                            

EXPRESS & PARCEL POST            

EXPRESS & BOUND PRINTED MATTER                          

EXPRESS & MEDIA MAIL                                

PARCEL POST & BOUND PRINTED MATTER          

PARCEL POST & MEDIA MAIL                

BOUND PRINTED MATTER & MEDIA MAIL                              



4.
A listing of the source code:
See attached program documentation.


B.
For all input data:
1.  Designation of all sources of such data:

Documentation for CCS datasets 

ALDRAN.CITY.PQTOTAL.PQ1FY00, ALDRAN.CITY.PQTOTAL.PQ2FY00, ALDRAN.CITY.PQTOTAL.PQ3FY00, ALDRAN.CITY.PQTOTAL.PQ4FY00 

is filed in USPS-LR-J-12.

2.  Explanations of any modifications to such data made for use in the program.

The CCS data were organized by stop type and class, subclass, or two-subclass combination.


C.
Definitions of all input and output variables or sets of variables:
Variables generated by SSS are:

STYP

The type of stop (SDR, MDR, or BAM)

D1-D40
Combines the volume on the stop for each shape category into 40 rate categories

TVOL

Total volume at the stop, for all mail subclasses

TOTSTOPS
Counts total number of actual stops

S1-S24
Array containing volume for each subclass or group of subclasses.  Each element of the array initially contains the sum of the volume from the appropriate variables in array D1-D40:

S1 = D2           


FIRST CLASS SINGLE PIECE               

S2 = D3         
 

FIRST CLASS PRESORT                     

S3 = D2+D3        


FIRST-CLASS LETTERS              

S4 = D4          


CARDS NON-PRESORT                       

S5 = D5          


CARDS PRESORT                           

S6 = D4+D5          


TOTAL CARDS                          

S7 = D2-D5   


TOTAL FIRST-CLASS                    

S8 = D7          


PRIORITY                                

S9 = D8          


EXPRESS                                 

S10 = D9        


MAILGRAMS                                

S11 = D10        


PERIODICALS                             

S12 = D14+D18    


STANDARD MAIL ECR                       

S13 = D15+D19    


STANDARD REGULAR                   

S14 = D14+D15+D18+D19 
TOTAL STANDARD MAIL                

S15 = D23        


PARCEL POST                       

S16 = D24        


BPM                             

S17 = D25+D26    


MEDIA MAIL                      

S18 = D23-D26 

     
TOTAL PKG SVG                  

S19 = D28            


USPS                                

S20 = D29            


FREE                                

S21 = D31-D40 


INTERNATIONAL                  

S22 = D2-D5,D9    


CORRESPONDANCE                 

S23 = D12,D14,D15,D18,D19,      ADVERTISING


D24

S24 = D7,D8,D23,D25,D26  
EXPEDITED  

Variables generated by SSSTSC are:

STYP

The type of stop (SDR, MDR, or BAM)

D1-D40
Combines the volume on the stop for each shape category into 40 rate categories

TVOL

Total volume at the stop, for all mail subclasses

TOTSTOPS
Counts total number of actual stops

S1-S10
Array containing volume for each subclass pair.  Each element of the array initially contains the sum of the volume from the appropriate variables in array D1-D40:

D7+D8         

PRIORITY & EXPRESS      

D7+D23        

PRIORITY & PARCEL POST    

D7+D24        

PRIORITY & BPM          

D7+D25+D26    
PRIORITY & MEDIA        

D8+D23        

EXPRESS & PARCEL POST     

D8+D24        

EXPRESS & BPM           

D8+D25+D26    
EXPRESS & MEDIA         

D23+D24       
PARCEL POST & BPM         

D23+D25+D26   
PARCEL POST & MEDIA       

D24+D25+D26  
BPM & MEDIA             
D. A description of input and output data file organizations:

ALDRAN.CITY.PQTOTAL.PQ1FY00

ALDRAN.CITY.PQTOTAL.PQ2FY00

ALDRAN.CITY.PQTOTAL.PQ3FY00

ALDRAN.CITY.PQTOTAL.PQ4FY00

are SAS libraries.  CCS data is in the data set  ‘TOTALS’ in each library.  Documentation on the CCS data system is filed in USPS-LR-J-12.  

E. A machine-readable copy of all data bases:

See USPS-LR-J-12.


F.
For all source codes, documentation sufficiently comprehensive and detailed to satisfy generally accepted software documentation standards appropriate to the type of program and to its intended use in the proceedings:
SSS follows the processing steps detailed in Section A above.  The steps used to generate the single subclass ratios are done three times, once for SDR, MDR, and BAM stops.

SSSTSC also follows the processing steps detailed in Section A above.  These steps are followed three times, once for SDR, MDR, and BAM stops.  

LISTING FOR SAS PROGRAMS SSS AND SSSTSC

SAS PROGRAM SSS

OPTIONS LINESIZE=132 NOCENTER;                                          

 ****************************************************************;      

 ***  DATA SET TOTALS ALREADY HAS ALL ADJUSTMENTS TO DATA     ***;      

 ***  AND WEIGHTS CALCULATED (IF NEEDED)                      ***;      

 ****************************************************************;      

DATA Z; SET IN1.TOTALS IN2.TOTALS IN3.TOTALS IN4.TOTALS ;          

     IF POSBUS=. THEN POSBUS=0;                                         

     IF POSRES=. THEN POSRES=0;                                         

     IF BUSDELV=. THEN BUSDELV=0;                                       

     IF RESDEL=. THEN RESDEL=0;                                         

 /*                                  DETERMINE STYP (STOP TYPE), AS  */ 

 /*                                  1 (SDR), 2 (MDR), OR 3 (BAM)    */ 

     IF POSRES=1 AND POSBUS=0 THEN STYP=1;                              

     IF POSRES>1 AND POSBUS=0 THEN STYP=2;                              

     IF POSBUS>0 THEN STYP=3;                                           

     IF WGT NE .;                  /* DELETE RECORDS WITH NO WEIGHT; */ 

     IF STYP NE .;                 /* AND RECORDS WITH NO STOP TYPE; */ 

    *OUTPUT;                       /* FINISHED STOP TYPES            */ 

*;                                                                      

*;                                                                      

     * D2  = 1ST CLASS SINGLE PIECE AND NONAUTO PRESORT;                

     * D3  = 1ST CLASS AUTO CARRT NONCRT;                               

     * D4  = POSTCARD SINGLE PIECE AND NONAUTO PRESORT;                 

     * D5  = POSTCARD AUTO CRT NONCRT;                                  

     * D7  = PRIORITY;                                                  

     * D8  = EXPRESS MAIL;                                              

     * D9  = MAILGRAMS;                                                 

     * D10 = PERIODICALS;                                               

     * D12 = STANDARD A SINGLE PIECE;                                   

     * D14 = STANDARD A ECR;                                            

     * D15 = STANDARD A REGULAR PREESORT;                               

     * D18 = STANDARD A NON PROFIT ECR;                                 

     * D19 = STANDARD A NON PROFIT REGULAR;                             

     * D23 = STANDARD B PARCEL POST;                                    

     * D24 = STANDARD B BOUND PRINTER MATTER;                           

     * D25 = STANDARD B SPECIAL;                                        

     * D26 = STANDARD B LIBRARY;                                        

     * D28 = PENALTY USPS;                                              

     * D29 = PENALTY FREE;                                              

     * D31 = INTERNATIONAL SURFACE;                                     

     * D32 = INTERNATIONAL SURFACE AO;                                  

     * D33 = INTERNATIONAL SURFACE PARCEL POST;                         

     * D34 = INTERNATIONAL SURFACE M-BAG;                               

     * D36 = INTERNATIONAL AIR LETTER;                                  

     * D37 = INTERNATIONAL AIR AO;                                      

     * D38 = INTERNATIONAL AIR PARCEL POST;                             

     * D39 = INTERNATIONAL AIR M-BAG;                                   

     * D40 = INTERNATIONAL AIR EXPRESS MAIL;                            

     * A44 = ACCOUNTABLE POSTAGE DUE;                                   

     * A45 = ACCOUNTABLE BUSINESS REPLY;                                

     * A46 = ACCOUNTABLE CERTIFIED;                                     

     * A47 = ACCOUNTABLE COD;                                           

     * A48 = ACCOUNTABLE NUMBERED INSURED;                              

     * A49 = ACCOUNTABLE REGISTERED;                                    

     * A50 = ACCOUNTABLE DELIVERY CONFIRMATION; /*NEW FY 2000*/         

     * A51 = ACCOUNTABLE RETURN RECEIPT;                                

     * A52 = ACCOUNTABLE EXPRESS RETURN RECEIPT;                        

     * A53 = ACCOUNTABLE OTHER;                                         

     * D55 = OTHER MAIL;                                                

*;                                                                      

********************************************************;               

**   CALCULATE SINGLE SUBCLASS RATIOS BY STYP        ***;               

********************************************************;               

     ARRAY A(I) A1-A55;    /*LETTERS*/                                  

     ARRAY B(I) B1-B55;    /*FLATS*/                                    

     ARRAY C(I) C1-C55;    /*PARCELS*/                                  

     ARRAY X(I) X1-X55;    /*DPS - NEW FOR FY 2000*/                    

     ARRAY D(I) D1-D55;                                                 

     *ZERO OUT UNUSED ARRAY VARIABLES;                                  

     A1=0; A6=0; A11=0; A13=0; A16=0; A17=0; A20=0;                     

     A21=0; A22=0; A27=0; A30=0; A35=0; A41=0; A42=0;                   

     A43=0; A54=0;                                                      

     B1=0; B6=0; B11=0; B13=0; B16=0; B17=0; B20=0;                     

     B21=0; B22=0; B27=0; B30=0; B35=0; B41=0; B42=0;                   

     B43=0; B54=0; B4=0; B5=0;                                          

     C1=0; C6=0; C11=0; C13=0; C16=0; C17=0; C20=0;                     

     C21=0; C22=0; C27=0; C30=0; C35=0; C41=0; C42=0;                   

     C43=0; C54=0; C4=0; C5=0;                                          

     X1=0; X6=0; X11=0; X13=0; X16=0; X17=0; X20=0;                     

     X21=0; X22=0; X27=0; X30=0; X35=0; X41=0; X42=0;                   

     X43=0; X54=0; X4=0; X5=0;                                          

     A44=0; A45=0; A46=0; A47=0; A48=0; A49=0;                          

     A50=0; A51=0; A52=0; A53=0; A54=0; /*ACCOUNTABLES DON'T COUNT*/    

*;                                                                      

DO I = 1 TO 55;                                                         

  IF A=. THEN A=0;                                                      

  IF B=. THEN B=0;                                                      

  IF C=. THEN C=0;                                                      

  IF X=. THEN X=0;                                                      

  D = SUM(A,B,C,X);                                                     

END;                                                                    

*;                                                                      

SVOL=SUM(OF D1-D55); *STOP VOLUMES;                                     

PS=1;  * ONE RECORD PER POSSIBLE STOP EACH WITH PS=1;                   

AS=0; IF SVOL>0 THEN AS=1;  * IF ANY VOLUME AT STOP THEN AS=1;          

WAS=AS*WGT;                                                             

PROC SORT DATA=Z; BY STYP;                              

 ***************************  CREATING SDR SSS ****************;        

 DATA SDR; SET Z; IF STYP = 1;                                

 ARRAY S(I) S1-S24;    /*24 SINGLE AND COMBINATION SUBCLASS STOPS*/     

 DO I = 1 TO 24;                                                        

      S=0;             /*INITIALIZE TO ZERO*/                           

 END;                                                                   

 /*ARRAY S HOLDS THE VOLUME FOR THE SINGLE SUBCLASS*/                   

 TVOL=SUM(OF D1-D40);                                                   

 S1 = D2;           /*FIRST CLASS SINGLE PIECE*/                        

 S2 = D3;          /*FIRST CLASS PRESORT*/                              

 S3 = D2+D3;        /*TOTAL FIRST-CLASS LETTERS*/                       

 S4 = D4;          /*CARDS NON-PRESORT*/                                

 S5 = D5;          /*CARDS PRESORT*/                                    

 S6 = D4+D5;          /*TOTAL CARDS*/                                   

 S7 = SUM(OF D2-D5);  /*TOTAL FIRST-CLASS*/                             

 S8 = D7;          /*PRIORITY*/                                         

 S9 = D8;          /*EXPRESS*/                                          

 S10 = D9;        /*MAILGRAMS*/                                         

 S11 = D10;        /*PERIODICALS*/                                      

 S12 = D14+D18;    /*STANDARD MAIL ECR*/                                

 S13 = D15+D19;    /*STANDARD MAIL REGULAR*/                            

 S14 = D14+D15+D18+D19; /*TOTAL STANDARD MAIL*/                         

 S15 = D23;        /*PKG SVC PARCEL POST*/                                

 S16 = D24;        /*PKG SVC BPM*/                                      

 S17 = D25+D26;    /*PKG SVC MEDIA MAIL*/                               

 S18 = SUM(OF D23-D26);     /*TOTAL PKG SVG*/                           

 S19 = D28;            /*USPS*/                                         

 S20 = D29;            /*FREE*/                                         

 S21 = SUM(OF D31-D40);     /*INTERNATIONAL*/                           

 S22 = SUM(OF D2-D5,D9);    /*CORRESPONDANCE*/                          

 S23 = SUM(OF D12,D14,D15,D18,D19,D24); /*ADVERTISING*/                 

 S24 = SUM(OF D7,D8,D23,D25,D26);       /*EXPEDITED*/                   

    /*CHECK TO SEE IF ALL OF THE VOLUME IN THE STOP IS IN THE           

      SUBCLASS.  IF SO, THIS IS A SINGLE SUBCLASS       

      STOP.  IF VOLUME IS GREATER THAN SUBCLASS     

      THEN OTHER MAIL CLASSES ARE RECEIVING MAIL*/                      

 DO I = 1 TO 24;                                                        

      IF (TVOL>0 AND S=TVOL) THEN S=1;   /*A SINGLE SUBCLASS STOP*/     

      ELSE S=0;      /*NOT A SINGLE SUBCLASS STOP*/                     

 END;                                                                   

  TOTSTOPS = 1;               /*GET COUNT OF NUMBER OF STOPS*/          

  PROC MEANS ;                                                          

  VAR TOTSTOPS S1-S24;                                                  

  OUTPUT OUT=SDRSSS SUM=;                                               

  PROC PRINT DATA=SDRSSS;                                               

 ***************************  CREATING MDR SSS ****************;        

 DATA MDR; SET Z; IF STYP = 2;                                

 ARRAY S(I) S1-S24;    /*24 SINGLE AND COMBINATION SUBCLASS STOPS*/     

 DO I = 1 TO 24;                                                        

      S=0;             /*INITIALIZE TO ZERO*/                           

 END;                                                                   

 /*ARRAY S HOLDS THE VOLUME FOR THE SINGLE SUBCLASS*/                   

 TVOL=SUM(OF D1-D40);                                                   

 S1 = D2;           /*FIRST CLASS SINGLE PIECE*/                        

 S2 = D3;          /*FIRST CLASS PRESORT*/                              

 S3 = D2+D3;        /*TOTAL FIRST-CLASS LETTERS*/                       

 S4 = D4;          /*CARDS NON-PRESORT*/                                

 S5 = D5;          /*CARDS PRESORT*/                                    

 S6 = D4+D5;          /*TOTAL CARDS*/                                   

 S7 = SUM(OF D2-D5);  /*TOTAL FIRST-CLASS*/                             

 S8 = D7;          /*PRIORITY*/                                         

 S9 = D8;          /*EXPRESS*/                                          

 S10 = D9;        /*MAILGRAMS*/                                         

 S11 = D10;        /*PERIODICALS*/                                      

 S12 = D14+D18;    /*STANDARD MAIL ECR*/                                

 S13 = D15+D19;    /*STANDARD MAIL REGULAR*/                            

 S14 = D14+D15+D18+D19; /*TOTAL STANDARD MAIL*/                         

 S15 = D23;        /*PKG SVC PARCEL POST*/                                

 S16 = D24;        /*PKG SVC BPM*/                                      

 S17 = D25+D26;    /*PKG SVC MEDIA MAIL*/                               

 S18 = SUM(OF D23-D26);     /*TOTAL PKG SVG*/                           

 S19 = D28;            /*USPS*/                                         

 S20 = D29;            /*FREE*/                                         

 S21 = SUM(OF D31-D40);     /*INTERNATIONAL*/                           

 S22 = SUM(OF D2-D5,D9);    /*CORRESPONDANCE*/                          

 S23 = SUM(OF D12,D14,D15,D18,D19,D24); /*ADVERTISING*/                 

 S24 = SUM(OF D7,D8,D23,D25,D26);       /*EXPEDITED*/                   

    /*CHECK TO SEE IF ALL OF THE VOLUME IN THE STOP IS IN THE           

      SUBCLASS.  IF SO, THIS IS A SINGLE SUBCLASS       

      STOP.  IF VOLUME IS GREATER THAN THE SUBCLASS     

      THEN OTHER MAIL CLASSES ARE RECEIVING MAIL*/                      

 DO I = 1 TO 24;                                                        

      IF (TVOL>0 AND S=TVOL) THEN S=1;   /*A SINGLE SUBCLASS STOP*/     

      ELSE S=0;      /*NOT A SINGLE SUBCLASS STOP*/                     

 END;                                                                   

  TOTSTOPS = 1;               /*GET COUNT OF NUMBER OF STOPS*/          

  PROC MEANS ;                                                          

  VAR TOTSTOPS S1-S24;                                                  

  OUTPUT OUT=MDRSSS SUM=;                                               

  PROC PRINT DATA=MDRSSS;                                               

 ***************************  CREATING BAM SSS ****************;        

 DATA BAM; SET Z; IF STYP = 3;                                

 ARRAY S(I) S1-S24;    /*24 SINGLE AND COMBINATION SUBCLASS STOPS*/     

 DO I = 1 TO 24;                                                        

      S=0;             /*INITIALIZE TO ZERO*/                           

 END;                                                                   

 /*ARRAY S HOLDS THE VOLUME FOR THE SINGLE SUBCLASS*/                   

 TVOL=SUM(OF D1-D40);                                                   

 S1 = D2;           /*FIRST CLASS SINGLE PIECE*/                        

 S2 = D3;          /*FIRST CLASS PRESORT*/                              

 S3 = D2+D3;        /*TOTAL FIRST-CLASS LETTERS*/                       

 S4 = D4;          /*CARDS NON-PRESORT*/                                

 S5 = D5;          /*CARDS PRESORT*/                                    

 S6 = D4+D5;          /*TOTAL CARDS*/                                   

 S7 = SUM(OF D2-D5);  /*TOTAL FIRST-CLASS*/                             

 S8 = D7;          /*PRIORITY*/                                         

 S9 = D8;          /*EXPRESS*/                                          

 S10 = D9;        /*MAILGRAMS*/                                         

 S11 = D10;        /*PERIODICALS*/                                      

 S12 = D14+D18;    /*STANDARD MAIL ECR*/                                

 S13 = D15+D19;    /*STANDARD MAIL REGULAR*/                            

 S14 = D14+D15+D18+D19; /*TOTAL STANDARD MAIL*/                         

 S15 = D23;        /*PKG SVC PARCEL POST*/                                

 S16 = D24;        /*PKG SVC BPM*/                                      

 S17 = D25+D26;    /*PKG SVC MEDIA MAIL*/                               

 S18 = SUM(OF D23-D26);     /*TOTAL PKG SVG*/                           

 S19 = D28;            /*USPS*/                                         

 S20 = D29;            /*FREE*/                                         

 S21 = SUM(OF D31-D40);     /*INTERNATIONAL*/                           

 S22 = SUM(OF D2-D5,D9);    /*CORRESPONDANCE*/                          

 S23 = SUM(OF D12,D14,D15,D18,D19,D24); /*ADVERTISING*/                 

 S24 = SUM(OF D7,D8,D23,D25,D26);       /*EXPEDITED*/                   

    /*CHECK TO SEE IF ALL OF THE VOLUME IN THE STOP IS IN THE           

      SUBCLASS.  IF SO, THIS IS A SINGLE SUBCLASS       

      STOP.  IF VOLUME IS GREATER THAN THE SUBCLASS     

      THEN OTHER MAIL CLASSES ARE RECEIVING MAIL*/                      

 DO I = 1 TO 24;                                                        

      IF (TVOL>0 AND S=TVOL) THEN S=1;   /*A SINGLE SUBCLASS STOP*/     

      ELSE S=0;      /*NOT A SINGLE SUBCLASS STOP*/                     

 END;                                                                   

  TOTSTOPS = 1;               /*GET COUNT OF NUMBER OF STOPS*/          

  PROC MEANS ;                                                          

  VAR TOTSTOPS S1-S24;                                                  

  OUTPUT OUT=BAMSSS SUM=;                                               

  PROC PRINT DATA=BAMSSS;                                               

 DATA _NULL_; SET SDRSSS;                                               

 FILE OUT1;                                                             

 PUT TOTSTOPS S1-S24;                                                   

 DATA _NULL_; SET MDRSSS;                                               

 FILE OUT1 MOD;                                                         

 PUT TOTSTOPS S1-S24;                                                   

 DATA _NULL_; SET BAMSSS;                                               

 FILE OUT1 MOD;                                                         

 PUT TOTSTOPS S1-S24;

SAS PROGRAM SSSTSC

OPTIONS LINESIZE=132 NOCENTER;                                          

 ****************************************************************;      

 ***  DATA SET TOTALS ALREADY HAS ALL ADJUSTMENTS TO DATA     ***;      

 ***  AND WEIGHTS CALCULATED (IF NEEDED)                      ***;      

 ****************************************************************;      

DATA Z; SET IN1.TOTALS IN2.TOTALS IN3.TOTALS IN4.TOTALS ; 

     IF POSBUS=. THEN POSBUS=0;                                         

     IF POSRES=. THEN POSRES=0;                                         

     IF BUSDELV=. THEN BUSDELV=0;                                       

     IF RESDEL=. THEN RESDEL=0;                                         

 /*                                  DETERMINE STYP (STOP TYPE), AS  */ 

 /*                                  1 (SDR), 2 (MDR), OR 3 (BAM)    */ 

     IF POSRES=1 AND POSBUS=0 THEN STYP=1;                              

     IF POSRES>1 AND POSBUS=0 THEN STYP=2;                              

     IF POSBUS>0 THEN STYP=3;                                           

     IF WGT NE .;                  /* DELETE RECORDS WITH NO WEIGHT; */ 

     IF STYP NE .;                 /* AND RECORDS WITH NO STOP TYPE; */ 

    *OUTPUT;                       /* FINISHED STOP TYPES            */ 

*;                                                                      

*;                                                                      

     * D2  = 1ST CLASS SINGLE PIECE AND NONAUTO PRESORT;                

     * D3  = 1ST CLASS AUTO CARRT NONCRT;                               

     * D4  = POSTCARD SINGLE PIECE AND NONAUTO PRESORT;                 

     * D5  = POSTCARD AUTO CRT NONCRT;                                  

     * D7  = PRIORITY;                                                  

     * D8  = EXPRESS MAIL;                                              

     * D9  = MAILGRAMS;                                                 

     * D10 = PERIODICALS;                                               

     * D12 = STANDARD A SINGLE PIECE;                                   

     * D14 = STANDARD A ECR;                                            

     * D15 = STANDARD A REGULAR PREESORT;                               

     * D18 = STANDARD A NON PROFIT ECR;                                 

     * D19 = STANDARD A NON PROFIT REGULAR;                             

     * D23 = STANDARD B PARCEL POST;                                    

     * D24 = STANDARD B BOUND PRINTER MATTER;                           

     * D25 = STANDARD B SPECIAL;                                        

     * D26 = STANDARD B LIBRARY;                                        

     * D28 = PENALTY USPS;                                              

     * D29 = PENALTY FREE;                                              

     * D31 = INTERNATIONAL SURFACE;                                     

     * D32 = INTERNATIONAL SURFACE AO;                                  

     * D33 = INTERNATIONAL SURFACE PARCEL POST;                         

     * D34 = INTERNATIONAL SURFACE M-BAG;                               

     * D36 = INTERNATIONAL AIR LETTER;                                  

     * D37 = INTERNATIONAL AIR AO;                                      

     * D38 = INTERNATIONAL AIR PARCEL POST;                             

     * D39 = INTERNATIONAL AIR M-BAG;                                   

     * D40 = INTERNATIONAL AIR EXPRESS MAIL;                            

     * A44 = ACCOUNTABLE POSTAGE DUE;                                   

     * A45 = ACCOUNTABLE BUSINESS REPLY;                                

     * A46 = ACCOUNTABLE CERTIFIED;                                     

     * A47 = ACCOUNTABLE COD;                                           

     * A48 = ACCOUNTABLE NUMBERED INSURED;                              

     * A49 = ACCOUNTABLE REGISTERED;                                    

     * A50 = ACCOUNTABLE DELIVERY CONFIRMATION; /*NEW FY 2000*/         

     * A51 = ACCOUNTABLE RETURN RECEIPT;                                

     * A52 = ACCOUNTABLE EXPRESS RETURN RECEIPT;                        

     * A53 = ACCOUNTABLE OTHER;                                         

     * D55 = OTHER MAIL;                                                

*;                                                                      

********************************************************;               

**   CALCULATE SINGLE SUBCLASS RATIOS BY STYP        ***;               

********************************************************;               

     ARRAY A(I) A1-A55;    /*LETTERS*/                                  

     ARRAY B(I) B1-B55;    /*FLATS*/                                    

     ARRAY C(I) C1-C55;    /*PARCELS*/                                  

     ARRAY X(I) X1-X55;    /*DPS - NEW FOR FY 2000*/                    

     ARRAY D(I) D1-D55;                                                 

     *ZERO OUT UNUSED ARRAY VARIABLES;                                  

     A1=0; A6=0; A11=0; A13=0; A16=0; A17=0; A20=0;                     

     A21=0; A22=0; A27=0; A30=0; A35=0; A41=0; A42=0;                   

     A43=0; A54=0;                                                      

     B1=0; B6=0; B11=0; B13=0; B16=0; B17=0; B20=0;                     

     B21=0; B22=0; B27=0; B30=0; B35=0; B41=0; B42=0;                   

     B43=0; B54=0; B4=0; B5=0;                                          

     C1=0; C6=0; C11=0; C13=0; C16=0; C17=0; C20=0;                     

     C21=0; C22=0; C27=0; C30=0; C35=0; C41=0; C42=0;                   

     C43=0; C54=0; C4=0; C5=0;                                          

     X1=0; X6=0; X11=0; X13=0; X16=0; X17=0; X20=0;                     

     X21=0; X22=0; X27=0; X30=0; X35=0; X41=0; X42=0;                   

     X43=0; X54=0; X4=0; X5=0;                                          

     A44=0; A45=0; A46=0; A47=0; A48=0; A49=0;                          

     A50=0; A51=0; A52=0; A53=0; A54=0; /*ACCOUNTABLES DON'T COUNT*/    

*;                                                                      

DO I = 1 TO 55;                                                         

  IF A=. THEN A=0;                                                      

  IF B=. THEN B=0;                                                      

  IF C=. THEN C=0;                                                      

  IF X=. THEN X=0;                                                      

  D = SUM(A,B,C,X);                                                     

END;                                                                    

*;                                                                      

SVOL=SUM(OF D1-D55); *STOP VOLUMES;                                     

PS=1;  * ONE RECORD PER POSSIBLE STOP EACH WITH PS=1;                   

AS=0; IF SVOL>0 THEN AS=1;  * IF ANY VOLUME AT STOP THEN AS=1;          

WAS=AS*WGT;                                                             

PROC SORT DATA=Z; BY STYP;                              

 ***************************  CREATING SDR SSS ****************;        

 DATA SDR; SET Z; IF STYP = 1;                                

 ARRAY S(I) S1-S10;   /*10 TWO SUBCLASS STOP COMBINATIONS*/             

 DO I = 1 TO 10;                                                        

      S=0;             /*INITIALIZE TO ZERO*/                           

 END;                                                                   

 /*ARRAY S HOLDS THE VOLUME FOR THE SINGLE SUBCLASS*/                   

 TVOL=SUM(OF D1-D40);  /*TOTAL VOLUME AT THE STOP*/                     

 S1 = D7+D8;         /*PRIORITY & EXPRESS*/                             

 S2 = D7+D23;        /*PRIORITY & PARCEL POST*/                           

 S3 = D7+D24;        /*PRIORITY & BPM*/                                 

 S4 = D7+D25+D26;    /*PRIORITY & MEDIA*/                               

 S5 = D8+D23;        /*EXPRESS & PARCEL POST*/                            

 S6 = D8+D24;        /*EXPRESS & BPM*/                                  

 S7 = D8+D25+D26;    /*EXPRESS & MEDIA*/                                

 S8 = D23+D24;       /*PARCEL POST & BPM*/                                

 S9 = D23+D25+D26;   /*PARCEL POST & MEDIA*/                              

 S10 = D24+D25+D26;  /*BPM & MEDIA*/                                    

    /*CHECK TO SEE IF ALL OF THE VOLUME IN THE STOP IS IN THE           

      TWO SUBCLASS COMBINATION.  IF SO, THIS IS A SINGLE SUBCLASS       

      STOP.  IF VOLUME IS GREATER THAN THE TWO-SUBCLASS COMBINATION     

      THEN OTHER MAIL CLASSES ARE RECEIVING MAIL*/                      

 DO I = 1 TO 10;                                                        

      IF (TVOL>0 AND S=TVOL) THEN S=1;   /*A SINGLE SUBCLASS STOP*/     

      ELSE S=0;      /*NOT A SINGLE SUBCLASS STOP*/                     

 END;                                                                   

  TOTSTOPS = 1;               /*GET COUNT OF NUMBER OF STOPS*/          

  PROC MEANS ;                                                          

  VAR TOTSTOPS S1-S10;                                                  

  OUTPUT OUT=SDRSSS SUM=;                                               

  PROC PRINT DATA=SDRSSS;                                               

 ***************************  CREATING MDR SSS ****************;        

 DATA MDR; SET Z; IF STYP = 2;                                

 ARRAY S(I) S1-S10;   /*10 TWO SUBCLASS STOP COMBINATIONS*/             

 DO I = 1 TO 10;                                                        

      S=0;             /*INITIALIZE TO ZERO*/                           

 END;                                                                   

 /*ARRAY S HOLDS THE VOLUME FOR THE SINGLE SUBCLASS*/                   

 TVOL=SUM(OF D1-D40);  /*TOTAL VOLUME AT THE STOP*/                     

 S1 = D7+D8;         /*PRIORITY & EXPRESS*/                             

 S2 = D7+D23;        /*PRIORITY & PARCEL POST*/                           

 S3 = D7+D24;        /*PRIORITY & BPM*/                                 

 S4 = D7+D25+D26;    /*PRIORITY & MEDIA*/                               

 S5 = D8+D23;        /*EXPRESS & PARCEL POST*/                            

 S6 = D8+D24;        /*EXPRESS & BPM*/                                  

 S7 = D8+D25+D26;    /*EXPRESS & MEDIA*/                                

 S8 = D23+D24;       /*PARCEL POST & BPM*/                                

 S9 = D23+D25+D26;   /*PARCEL POST & MEDIA*/                              

 S10 = D24+D25+D26;  /*BPM & MEDIA*/                                    

    /*CHECK TO SEE IF ALL OF THE VOLUME IN THE STOP IS IN THE           

      TWO SUBCLASS COMBINATION.  IF SO, THIS IS A SINGLE SUBCLASS       

      STOP.  IF VOLUME IS GREATER THAN THE TWO-SUBCLASS COMBINATION     

      THEN OTHER MAIL CLASSES ARE RECEIVING MAIL*/                      

 DO I = 1 TO 10;                                                        

      IF (TVOL>0 AND S=TVOL) THEN S=1;   /*A SINGLE SUBCLASS STOP*/     

      ELSE S=0;      /*NOT A SINGLE SUBCLASS STOP*/                     

 END;                                                                   

  TOTSTOPS = 1;               /*GET COUNT OF NUMBER OF STOPS*/          

  PROC MEANS ;                                                          

  VAR TOTSTOPS S1-S10;                                                  

  OUTPUT OUT=MDRSSS SUM=;                                               

  PROC PRINT DATA=MDRSSS;                                               

 ***************************  CREATING BAM SSS ****************;        

 DATA BAM; SET Z; IF STYP = 3;                                

 ARRAY S(I) S1-S10;   /*10 TWO SUBCLASS STOP COMBINATIONS*/             

 DO I = 1 TO 10;                                                        

      S=0;             /*INITIALIZE TO ZERO*/                           

 END;                                                                   

 /*ARRAY S HOLDS THE VOLUME FOR THE SINGLE SUBCLASS*/                   

 TVOL=SUM(OF D1-D40);  /*TOTAL VOLUME AT THE STOP*/                     

 S1 = D7+D8;         /*PRIORITY & EXPRESS*/                             

 S2 = D7+D23;        /*PRIORITY & PARCEL POST*/                           

 S3 = D7+D24;        /*PRIORITY & BPM*/                                 

 S4 = D7+D25+D26;    /*PRIORITY & MEDIA*/                               

 S5 = D8+D23;        /*EXPRESS & PARCEL POST*/                            

 S6 = D8+D24;        /*EXPRESS & BPM*/                                  

 S7 = D8+D25+D26;    /*EXPRESS & MEDIA*/                                

 S8 = D23+D24;       /*PARCEL POST & BPM*/                                

 S9 = D23+D25+D26;   /*PARCEL POST & MEDIA*/                              

 S10 = D24+D25+D26;  /*BPM & MEDIA*/                                    

    /*CHECK TO SEE IF ALL OF THE VOLUME IN THE STOP IS IN THE           

      TWO SUBCLASS COMBINATION.  IF SO, THIS IS A SINGLE SUBCLASS       

      STOP.  IF VOLUME IS GREATER THAN THE TWO-SUBCLASS COMBINATION     

      THEN OTHER MAIL CLASSES ARE RECEIVING MAIL*/                      

 DO I = 1 TO 10;                                                        

      IF (TVOL>0 AND S=TVOL) THEN S=1;   /*A SINGLE SUBCLASS STOP*/     

      ELSE S=0;      /*NOT A SINGLE SUBCLASS STOP*/                     

 END;                                                                   

  TOTSTOPS = 1;               /*GET COUNT OF NUMBER OF STOPS*/          

  PROC MEANS ;                                                          

  VAR TOTSTOPS S1-S10;                                                  

  OUTPUT OUT=BAMSSS SUM=;                                                

  PROC PRINT DATA=BAMSSS;                                               

 DATA _NULL_; SET SDRSSS;                                               

 FILE OUT1;                                                             

 PUT TOTSTOPS S1-S10;                                                   

 DATA _NULL_; SET MDRSSS;                                               

 FILE OUT1 MOD;                                                         

 PUT TOTSTOPS S1-S10;                                                   

 DATA _NULL_; SET BAMSSS;                                               

 FILE OUT1 MOD;                                                         

 PUT TOTSTOPS S1-S10;

OUTPUT FOR SAS PROGRAMS SSS AND SSSTSC

OUTPUT FOR SAS PROGRAM SSS
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1

 The MEANS Procedure

 Variable               N            Mean         Std Dev         Minimum         Maximum

 ----------------------------------------------------------------------------------------

 TOTSTOPS          221020       1.0000000               0       1.0000000       1.0000000

 S1                221020       0.0236359       0.1519122               0       1.0000000

 S2                221020       0.0499638       0.2178707               0       1.0000000

 S3                221020       0.1016876       0.3022378               0       1.0000000

 S4                221020       0.0015836       0.0397626               0       1.0000000

 S5                221020       0.0011221       0.0334786               0       1.0000000

 S6                221020       0.0027780       0.0526339               0       1.0000000

 S7                221020       0.1115193       0.3147749               0       1.0000000

 S8                221020     0.000751063       0.0273953               0       1.0000000

 S9                221020     0.000022622       0.0047563               0       1.0000000

 S10               221020     0.000018098       0.0042541               0       1.0000000

 S11               221020       0.0050584       0.0709422               0       1.0000000

 S12               221020       0.0454846       0.2083649               0       1.0000000

 S13               221020       0.0358429       0.1858988               0       1.0000000

 S14               221020       0.1290290       0.3352328               0       1.0000000

 S15               221020     0.000257895       0.0160571               0       1.0000000

 S16               221020     0.000248846       0.0157729               0       1.0000000

 S17               221020     0.000131210       0.0114540               0       1.0000000

 S18               221020     0.000651525       0.0255167               0       1.0000000

 S19               221020     0.000266944       0.0163363               0       1.0000000

 S20               221020     0.000045245       0.0067263               0       1.0000000

 S21               221020     0.000144783       0.0120317               0       1.0000000

 S22               221020       0.1115827       0.3148530               0       1.0000000

 S23               221020       0.1300742       0.3363858               0       1.0000000

 S24               221020       0.0011764       0.0342781               0       1.0000000

 ----------------------------------------------------------------------------------------
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 The MEANS Procedure

 Variable               N            Mean         Std Dev         Minimum         Maximum

 ----------------------------------------------------------------------------------------

 TOTSTOPS           18357       1.0000000               0       1.0000000       1.0000000

 S1                 18357       0.0104592       0.1017369               0       1.0000000

 S2                 18357       0.0216266       0.1454650               0       1.0000000

 S3                 18357       0.0552378       0.2284500               0       1.0000000

 S4                 18357     0.000653702       0.0255599               0       1.0000000

 S5                 18357     0.000490276       0.0221374               0       1.0000000

 S6                 18357       0.0011440       0.0338043               0       1.0000000

 S7                 18357       0.0610121       0.2393591               0       1.0000000

 S8                 18357     0.000599226       0.0244724               0       1.0000000

 S9                 18357               0               0               0               0

 S10                18357     0.000054475       0.0073807               0       1.0000000

 S11                18357       0.0011985       0.0345989               0       1.0000000

 S12                18357       0.0121480       0.1095492               0       1.0000000

 S13                18357       0.0107316       0.1030389               0       1.0000000

 S14                18357       0.0391131       0.1938694               0       1.0000000

 S15                18357               0               0               0               0

 S16                18357     0.000108950       0.0104376               0       1.0000000

 S17                18357     0.000108950       0.0104376               0       1.0000000

 S18                18357     0.000217901       0.0147602               0       1.0000000

 S19                18357     0.000217901       0.0147602               0       1.0000000

 S20                18357               0               0               0               0

 S21                18357     0.000108950       0.0104376               0       1.0000000

 S22                18357       0.0611756       0.2396586               0       1.0000000

 S23                18357       0.0394945       0.1947735               0       1.0000000

 S24                18357     0.000817127       0.0285745               0       1.0000000

 ----------------------------------------------------------------------------------------
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 Obs _TYPE_ _FREQ_ TOTSTOPS  S1  S2  S3  S4 S5 S6  S7  S8 S9 S10 S11 S12 S13 S14 S15 S16 S17 S18 S19 S20 S21  S22 S23 S24

  1     0    18357   18357  192 397 1014 12  9 21 1120 11  0  1   22 223 197 718  0   2   2   4   4   0   2  1123 725  15
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 The MEANS Procedure

 Variable               N            Mean         Std Dev         Minimum         Maximum

 ----------------------------------------------------------------------------------------

 TOTSTOPS           26297       1.0000000               0       1.0000000       1.0000000

 S1                 26297       0.0555196       0.2289961               0       1.0000000

 S2                 26297       0.0284823       0.1663495               0       1.0000000

 S3                 26297       0.1293684       0.3356136               0       1.0000000

 S4                 26297       0.0015211       0.0389722               0       1.0000000

 S5                 26297       0.0010267       0.0320268               0       1.0000000

 S6                 26297       0.0026239       0.0511575               0       1.0000000

 S7                 26297       0.1425258       0.3495952               0       1.0000000

 S8                 26297       0.0019014       0.0435639               0       1.0000000

 S9                 26297     0.000190136       0.0137879               0       1.0000000

 S10                26297     0.000038027       0.0061666               0       1.0000000

 S11                26297       0.0081758       0.0900517               0       1.0000000

 S12                26297       0.0128912       0.1128074               0       1.0000000

 S13                26297       0.0400806       0.1961520               0       1.0000000

 S14                26297       0.0629730       0.2429189               0       1.0000000

 S15                26297     0.000266190       0.0163135               0       1.0000000

 S16                26297     0.000456326       0.0213573               0       1.0000000

 S17                26297     0.000114081       0.0106805               0       1.0000000

 S18                26297     0.000912652       0.0301969               0       1.0000000

 S19                26297     0.000456326       0.0213573               0       1.0000000

 S20                26297               0               0               0               0

 S21                26297     0.000228163       0.0151036               0       1.0000000

 S22                26297       0.1425638       0.3496341               0       1.0000000

 S23                26297       0.0641518       0.2450278               0       1.0000000

 S24                26297       0.0026239       0.0511575               0       1.0000000

 ----------------------------------------------------------------------------------------
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 Obs _TYPE_ _FREQ_ TOTSTOPS  S1   S2  S3  S4 S5 S6  S7  S8 S9 S10 S11 S12  S13  S14 S15 S16 S17 S18 S19 S20 S21  S22  S23 S24

  1     0    26297   26297  1460 749 3402 40 27 69 3748 50  5  1  215 339 1054 1656  7   12  3   24  12  0   6  3749 1687  69
OUTPUT FOR SAS PROGRAM SSSTSC
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1

 The MEANS Procedure

 Variable               N            Mean         Std Dev         Minimum         Maximum

 ----------------------------------------------------------------------------------------

 TOTSTOPS          221020       1.0000000               0       1.0000000       1.0000000

 S1                221020     0.000773686       0.0278045               0       1.0000000

 S2                221020       0.0010135       0.0318192               0       1.0000000

 S3                221020     0.000999910       0.0316056               0       1.0000000

 S4                221020     0.000886798       0.0297660               0       1.0000000

 S5                221020     0.000280518       0.0167463               0       1.0000000

 S6                221020     0.000271469       0.0164741               0       1.0000000

 S7                221020     0.000153832       0.0124020               0       1.0000000

 S8                221020     0.000506741       0.0225053               0       1.0000000

 S9                221020     0.000393630       0.0198362               0       1.0000000

 S10               221020     0.000389105       0.0197220               0       1.0000000

 ----------------------------------------------------------------------------------------
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 Obs    _TYPE_    _FREQ_    TOTSTOPS     S1     S2     S3     S4    S5    S6    S7     S8    S9    S10

  1        0      221020     221020     171    224    221    196    62    60    34    112    87     86
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 The MEANS Procedure

 Variable               N            Mean         Std Dev         Minimum         Maximum

 ----------------------------------------------------------------------------------------

 TOTSTOPS           18357       1.0000000               0       1.0000000       1.0000000

 S1                 18357     0.000599226       0.0244724               0       1.0000000

 S2                 18357     0.000653702       0.0255599               0       1.0000000

 S3                 18357     0.000762652       0.0276064               0       1.0000000

 S4                 18357     0.000762652       0.0276064               0       1.0000000

 S5                 18357               0               0               0               0

 S6                 18357     0.000108950       0.0104376               0       1.0000000

 S7                 18357     0.000108950       0.0104376               0       1.0000000

 S8                 18357     0.000108950       0.0104376               0       1.0000000

 S9                 18357     0.000108950       0.0104376               0       1.0000000

 S10                18357     0.000217901       0.0147602               0       1.0000000

 ----------------------------------------------------------------------------------------

1The SAS System                                                                                     09:22 Wednesday, May 23, 2001
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 Obs    _TYPE_    _FREQ_    TOTSTOPS    S1    S2    S3    S4    S5    S6    S7    S8    S9    S10

  1        0       18357      18357     11    12    14    14     0     2     2     2     2     4

1The SAS System                                                                                     09:22 Wednesday, May 23, 2001
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 The MEANS Procedure

 Variable               N            Mean         Std Dev         Minimum         Maximum

 ----------------------------------------------------------------------------------------

 TOTSTOPS           26297       1.0000000               0       1.0000000       1.0000000

 S1                 26297       0.0020915       0.0456859               0       1.0000000

 S2                 26297       0.0022056       0.0469126               0       1.0000000

 S3                 26297       0.0023577       0.0484996               0       1.0000000

 S4                 26297       0.0020535       0.0452695               0       1.0000000

 S5                 26297     0.000456326       0.0213573               0       1.0000000

 S6                 26297     0.000646462       0.0254179               0       1.0000000

 S7                 26297     0.000304217       0.0174395               0       1.0000000

 S8                 26297     0.000722516       0.0268705               0       1.0000000

 S9                 26297     0.000418299       0.0204485               0       1.0000000

 S10                26297     0.000608434       0.0246594               0       1.0000000

 ----------------------------------------------------------------------------------------
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 Obs    _TYPE_    _FREQ_    TOTSTOPS    S1    S2    S3    S4    S5    S6    S7    S8    S9    S10

 1        0       26297      26297     55    58    62    54    12    17     8    19    11     16
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